MEXQl 1217[719] 75%= 012 ‘ZMEM=E AtsX 18 9 =0

1917470] 571 IRl 17 Wk ASihaaslel b A8l Yuist 2 9l
FAREISA olgith, MAY Al 7T % Sk 197k, 53] et BAS At
19l 1917179] 57K BRI ofje} hakt HolollA] 42 40 wiske Falsic
AR A28l 197179] oF 75%= 4o 19l 1917470] S7Re AMIA o4l
197h70] Z7h2 whe si,

A ool 1QVF7 Al Aokl AAA A9e 9tk Aheo] Bste] Aol
19 7Rl 1, TRE £ AR SEoR At o4l 191710 A8l
2 AL Bes) AllA Y B4 S olet A3Holn B 1T 4B

Qe e Fagk olck

II‘E_‘i

M

MEAl 8Ll 1907 71BEDE S0 TIEst A HAYCE 4o S+

(¢]

| @7elAE A2A ol 17 500%8E 2= Afotsd AT 240
= B850 ARl AR ARG A2 okl 17T S8%t £AIE v
ElEal olop|2 = Q= 9Jv] Sl A9l Fat 4.999 2= WA ofv] Q=
o] @] FHF FHRI we)lo] gl=7t s 1097 9l Qitt. ¥4 f3E=Es 4
(50.6%)3 FF-01% 5 AH&] A 1(48 7%)7F HF-2a AL, A2 AlSAH0.76%)
7t HE Ol 715 v e ARleR F2 kel Aol Bk oJv] =
Ak B AJRJohs = Hat 4.04861 w2 BAH Ae k= 171

TE 71500 &SI EY Bl 5]% e, A 22 A WAEeR 42 99
Sk Q= 20 gl

A

bl



Al

IL
=

o]
A7

R

=

=

st 24
1o
-1 T

j=4

3
10 X%

o] 714 £ of4

A 7

3

&
[e}

RL

S SRR

=

A3l 9]

s

7V e ARG

A

-

|5 2o 3 /R EQ

=

1
=1
40

H
il

Aolow Vet

it

Hoj-EAH

e

1

A2 A

-
1Z A
Q]
=

oL
2
2}

al

|
oug

X

0|

1

= 7bg Ui Aow et

Sk Q

RN

ANZ
= 018

-O_
=

.l

X

AT S50l met Al Ade=

Agk Wizt AeE, gt
w9l 19717 932

=)

2

2]
2
A
ot

[¢]

-

A7E HAG Y 2|

-
o

TR

A3

fok. oPgieel 191717

L=
.

O]

SERES
Q

&
2
fe o)

-

.

p=k

=

O

I

A
HOAF 22 M| A
Z0]

L.

o

st 5

.0
ge
/K(—)]E,

gl 1917
ZF
Al

A2 3]

K
ol

T R
%M%%
g P E
woR e
N
o oW
T W g T
mmoﬂvuumo;ou
Of
op °F W =
wooon ™
R DE
mwfﬁ_@
J))
R e
oM N RY
(6]
T S
o h
N
N o
HH s o
¢ B oo
o -
L
Rom R o
ap L E ¢
B X0 o
.
o X
e G
-
peER
ul%mﬂmgm]ﬁ
N IV
oo owow R
N m W o Mo



